Falkirk Council

Transfers Report

This report contains the transfers results.

Contest Name

Ward 6 - Falkirk North

Valid Votes

Positions to be Filled

Quota

6,456 4 1,292

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Zohaib ARSHAD	Alba Party for independence	294
Robert BISSETT	Scottish Labour Party	1,464
James BUNDY	Scottish Conservative and Unionist	857
Robbie BURGESS	Scottish Labour Party	399
Judith MCLAUGHLIN	Scottish Green Party	381
Cecil MEIKLEJOHN	Scottish National Party (SNP)	2,260
lain SINCLAIR	Scottish National Party (SNP)	801
	Total	6,456

Candidate Robert BISSETT Elected with 1,464 votes, being in excess of the quota of 1,292 Candidate Cecil MEIKLEJOHN Elected with 2,260 votes, being in excess of the quota of 1,292

Falkirk Council

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Cecil MEIKLEJOHN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Zohaib ARSHAD	31	0.42831	13.27761
Transfer to James BUNDY	16	0.42831	6.85296
Transfer to Robbie BURGESS	57	0.42831	24.41367
Transfer to Judith MCLAUGHLIN	101	0.42831	43.25931
Transfer to Iain SINCLAIR	1,925	0.42831	824.49675
No further preference	130	0.42831	55.68030
Not transferred due to rounding			0.01940
	Total		968.00000

This report contains the transfers results.

Stage 3 - Surplus of Iain SINCLAIR

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Zohaib ARSHAD	83	0.20516	17.02828
Transfer to James BUNDY	8	0.20516	1.64128
Transfer to Robbie BURGESS	90	0.20516	18.46440
Transfer to Judith MCLAUGHLIN	333	0.20516	68.31828
Transfer to Zohaib ARSHAD	239	0.08787	21.00093
Transfer to James BUNDY	28	0.08787	2.46036
Transfer to Robbie BURGESS	280	0.08787	24.60360
Transfer to Judith MCLAUGHLIN	692	0.08787	60.80604
No further preference	287	0.20516	58.88092
No further preference	686	0.08787	60.27882
Not transferred due to rounding			0.01384
	Total		333.49675

This report contains the transfers results.

Stage 4 - Surplus of Robert BISSETT

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Zohaib ARSHAD	26	0.11748	3.05448
Transfer to James BUNDY	108	0.11748	12.68784
Transfer to Robbie BURGESS	1,172	0.11748	137.68656
Transfer to Judith MCLAUGHLIN	39	0.11748	4.58172
No further preference	119	0.11748	13.98012
Not transferred due to rounding			0.00928
	Total		172.00000

This report contains the transfers results.

Stage 5 - Exclusion of Zohaib ARSHAD

348.36130

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to James BUNDY	29	1.00000	29.00000
Transfer to Robbie BURGESS	40	1.00000	40.00000
Transfer to Judith MCLAUGHLIN	53	1.00000	53.00000
Transfer to James BUNDY	3	0.42831	1.28493
Transfer to Robbie BURGESS	6	0.42831	2.56986
Transfer to Judith MCLAUGHLIN	7	0.42831	2.99817
Transfer to James BUNDY	3	0.20516	0.61548
Transfer to Robbie BURGESS	5	0.20516	1.02580
Transfer to Judith MCLAUGHLIN	35	0.20516	7.18060
Transfer to James BUNDY	3	0.11748	0.35244
Transfer to Robbie BURGESS	10	0.11748	1.17480
Transfer to Judith MCLAUGHLIN	7	0.11748	0.82236
Transfer to James BUNDY	12	0.08787	1.05444
Transfer to Robbie BURGESS	27	0.08787	2.37249
Transfer to Judith MCLAUGHLIN	104	0.08787	9.13848
No further preference	172	1.00000	172.00000
No further preference	15	0.42831	6.42465
No further preference	40	0.20516	8.20640
No further preference	6	0.11748	0.70488
No further preference	96	0.08787	8.43552
Not transferred due to rounding			0.00000
	Total		240 26420

Total 348.36130

This report contains the transfers results.

Stage 6 - Exclusion of Judith MCLAUGHLIN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to James BUNDY	28	1.00000	28.00000
Transfer to Robbie BURGESS	206	1.00000	206.00000
Transfer to James BUNDY	7	0.42831	2.99817
Transfer to Robbie BURGESS	36	0.42831	15.41916
Transfer to James BUNDY	9	0.20516	1.84644
Transfer to Robbie BURGESS	133	0.20516	27.28628
Transfer to James BUNDY	2	0.11748	0.23496
Transfer to Robbie BURGESS	21	0.11748	2.46708
Transfer to James BUNDY	21	0.08787	1.84527
Transfer to Robbie BURGESS	302	0.08787	26.53674
No further preference	200	1.00000	200.00000
No further preference	65	0.42831	27.84015
No further preference	226	0.20516	46.36616
No further preference	23	0.11748	2.70204
No further preference	473	0.08787	41.56251
Not transferred due to rounding			0.00000
	Total		631.10496

This report contains the transfers results.

Stage 7 - Exclusion of Robbie BURGESS

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to James BUNDY	213	1.00000	213.00000
Transfer to James BUNDY	39	0.42831	16.70409
Transfer to James BUNDY	113	0.20516	23.18308
Transfer to James BUNDY	397	0.11748	46.63956
Transfer to James BUNDY	347	0.08787	30.49089
No further preference	432	1.00000	432.00000
No further preference	60	0.42831	25.69860
No further preference	115	0.20516	23.59340
No further preference	806	0.11748	94.68888
No further preference	262	0.08787	23.02194
Not transferred due to rounding			0.00000
	Total		929.02044